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BACHELOR’S DEGREE PROGRAMME
Term-End Examination

11482 June, 2019

ELECTIVE COURSE : COMMERCE
ECO-10 : ELEMENTS OF COSTING

Time : 2 hours : Maximum Marks : 50
' (Weightage 70%)

Note : Attempt any two questions from Section A and any
two questions from Section B.

SECTION A

1. Differentiate between Cost Accounting and
Financial Accounting. ‘ 10

2. (a) What are the main advantages of a good
system of material control ? Explain mth
examples. 5

(b) What is ‘labour turnover’ ? State any five
“avoidable causes of labour turnover. 243

3. Write short notes on any fwe of the following:  5+5
(a) Cost centre ~
(b) Over-absorption of overheads
(¢) Process costing
(d) Bin card
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SECTION B

4. Prepare Cost Sheet by showing (i) Prime cost,
(ii) Factory cost, (iii) Cost of production, (iv) Cost
of goods sold, (v) Cost of sales, and (vi) Profit,
from the following information for the month of
March, 2019 : -

Eq
Direct labour 16,000
Factory overheads 10,000
Cost of goods sold 56,000
Purchase of materials 36,000

Inventory accounts showed the following opening

and closing balances :
March 15t March 31

¥ <

Raw materials 8,000 8,600
Work-in-progress - 8,000 12,000
Finished goods - 14,000 18,000
Other data :

Selling expenses 3,400
Administration

expenses 2,600
Sales for the month 75,000
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5. Alcon Construction Co. Ltd.

commenced

its business on 1-1-2018. The value of contract
was ¥ 15,00,000. The following are the details as

shown in the books on 30-6-2018 :

Labour on site
Materials direct to site

Materials received from stores

Hire for use of plant
General overheads

Direct expenses

Materials on hand (30-6-2018)

Work certified
Work uncertified

Cash received

Prepare contract account and

&
4,05,000
4,20,000
81,200
12,100
37,100
32,400
6,300

11,00,000

. 16,500
8,80,000

show how

work-in-progress will appear in the Balance

Sheet as on 30-6-2018.

15

6. (a) From the following data calculate Economic

Order Quantity (EOQ) :
Annual usages

Cost of material per unit

Cost of placing and receiving
an order

- Annual carrying cost per unit
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T 2-50
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20% of
inventory value
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(b) Compute Machine Hour Rate (MHR) from

the following data :
F

Cost of machine 1,00,000
Installation charges 10,000
Scrap value after 15 years 5,000
Rent and lighting per month 500
Insurance of machine (p.a.) 960
Repairs (p.a.) 1,000
Shop supervisor’s salary (p.m.) 600
Power used : 10 units per hour

Rate of power per 100 units 20

The machine occupied 1/4 of total area of the
shop. Estimated working hours of the
‘machine p.a. are 1,000 hours. Supervisor
devotes 1/3 of his time for this machine. 5+10
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AR T 14,000 18,000

A AT :

o = 3,400
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6.
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(@) frafafga afegt & smar w wefF 90 &«
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(MHR) %I TvrET ST

=
T 1 T 1,00,000
3 G I T 10,000
15 61 & 91¢ 39H @ I 5,000
(scrap value)
fortrn wa Qurdt wia o 500
Tefi = <fim (wfy o) 960
A =59 (Wi 99) 1,000
wifq gaeft aa= (wfa o) 600
fersreft =1 39T : 10 $TRAT S e
fasrett Y 100 SPTE Y @R 20

wofiR ¥ g % F 8T H 1/4 9T 9 @ R
w¥ita % TG HRivie aifde @ 1,000 &

Ta8 94 GG 1 1/3 W 39 W % ey

o= g |

5+10
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